IEQRREURIEE] Ta
RERICIRER L]
T qATE, 2014 CEH Gl ThET: FE E
ERETIED Temeft % AT T 9T 1 ¥ 97 2 T afx afurm
50 50 100

4001 AT A 37 50 87 31.0 ERik
4002 s T 37 43 80 28.6 ERik
4003 e AR 41 50 91 30.0 ERik
4004 fed = 42 50 92 30.2 ERik
4005 TIRTST T T 40 50 90 32.0 ERik
4006 EIEELICIER] 26 0 26 10.8 = -l
4007 T HHTL 7T 46 0 46 14.0 = -l
4008 EGERCIE] 0 0 0 0.0 Rk
4009 oTford AT aTa 17 0 17 0.0 et
4010 AT =7 HEA 42 15 57 22.9 = -l
4011 FSTE sgwe 43 0 43 16.9 = -l
4012 AT A 49 50 99 39.7 ERik
4013 T FAT T 39 50 89 36.3 It
4014 TISTIT FHIX 44 50 94 371 ERik
4015 TAATT FHTL 35 0 35 0.0 = -l
4016 [EEIG AT IR 49 50 99 40.9 ERik
4017 ST FAT 44 48 92 29.5 ERik
4018 st avfarer 43 50 93 41.8 ERik
4019 ST SHTE gt 44 0 44 13.4 = -l



IEQRREURIEE] Ta
RECILIREREIU]
T qATE, 2014 CEH Gl ThET: FE E
ERETIED Temeft % AT T 9T 1 ¥ 97 2 T afx afurm
50 50 100

4020 T LA 43 50 93 30.8 I
4021 LERE: R 15 0 15 0.0 Sk
4022 I FHX 47 50 97 324 I
4023 Zarefie = 44 9 53 21.8 = -l
4024 IEEEIGREEIE] 30 0 30 0.0 = -l
4025 TaT Hee 0 0 0 0.0 EnIb
4026 TATer FAL 0 0 0 0.0 EnIb
4027 I aTH 10 0 10 0.0 EnIb
4028 =T &9 28 0 28 5.7 = -l
4029 QTFIT T 25 50 75 36.6 ERik
4030 ST T 29 0 29 4.0 = -l
4031 frefer wmeT 19 0 19 0.0 Sk
4032 T Sttaq qie 25 0 25 0.0 = -l
4033 A AT 26 0 26 6.3 = -l
4034 oI AT 16 0 16 0.0 Sreror
4035 FHT T §g 44 50 94 45.6 I
4036 AT g 47 50 97 51.6 ERik
4037 I =haAT 20 0 20 15.0 EnIb
4038 ety =7 11 0 11 0.0 EnIb



IEQRREURIEE] Ta
RECILIREREIU]
T qATE, 2014 CEH Gl ThET: FE E
ERETIED Temeft % AT T 9T 1 ¥ 97 2 T afx afurm
50 50 100

4039 AT =75 T 46 32 78 26.3 I
4040 T ALY 27 1 28 20.2 = -l
4041 TIT FATT AT 25 0 25 0.0 = -l
4042 SRTST =had 0 0 0 0.3 EnIL
4043 eATHg FHET 28 0 28 14.0 = -l
4044 FHAT He A 39 0 39 16.3 = -l
4045 TaIq FATL & 18 30 48 26.0 = -l
4046 FAT o5 T 0 0 0 0.0 LUk
4047 g A 16 0 16 13.4 SRk
4048 FT T 8 7 15 21.4 SRk
4049 T AR 13 40 53 28.0 = -l
4050 TR WHATE 8 0 8 0.0 Sk
4051 AATH FATL T 27 0 27 19.3 = -l
4052 Frorfeaar =&r 15 0 15 2.8 EnIb
4053 3 qieT 0 0 0 0.0 EnIb
4054 MEERECA 16 0 16 15.0 EnIb
4055 Toiex foig 40 34 74 26.7 IO
4056 ATERLT TH 41 50 9 33.8 I
4057 g f¥g 42 50 92 46.0 I



IEQRREURIEE] Ta
TISTHTHT frmT
T qATE, 2014 CEH Gl ThET: FE E
ERETIED Temeft % AT T 9T 1 ¥ 97 2 T afx afurm
50 50 100
4058 fore Ty 41 50 91 42.0 Eniki
4059 TE TAY 39 50 89 48.0 Eniki
4060 LI THA 26 50 76 43.8 Eniki
4061 [ERREIEI 36 50 86 47.8 Exiki
4062 TS FATT 37 50 87 445 IO
4063 Tofta T 38 50 88 45.8 Exiki
4064 faww g 38 50 88 32.8 Exiki
4065 qrfEer sETer 38 50 88 41.6 Exiki
4066 Y 9 g 37 50 87 33.8 Exiki
4067 TR TR A 37 50 87 354 ERik
4068 T Fhe foraT Tt 39 50 89 30.5 Exiki
4069 s fi 37 50 87 30.3 Exiki
4070 gai g 37 50 87 42.3 IO
4071 T g 36 50 86 33.2 Exiki
4072 ST THST 37 50 87 31.9 ERik
4073 ZTF FHTT TemT 38 50 88 49.3 Exiki
4074 AT uw s 37 50 87 35.0 F<fiot
4075 Fer TTomT 38 50 88 37.0 IO
4076 FouT FHTT R 38 50 88 47.8 Exiki



IEQRREURIEE] Ta
RECILIREREIU]
T qATE, 2014 CEH Gl ThET: FE E
ERETIED Temeft % AT T 9T 1 ¥ 97 2 T afx afurm
50 50 100

4077 g [{ig % 37 50 87 37.0 IO
4078 T T 38 50 88 39.0 I
4079 Teftvg AT AT 34 50 84 35.6 I
4080 fae o e 38 50 88 54.0 I
4081 AT IT=aT 40 50 90 36.4 I
4082 T FHTT ZARTT 31 0 31 15.7 T2 -l
4083 T AT 30 50 80 38.7 I
4084 ST FHTTZ 3 50 53 42.9 T -|
4085 ATATT T 14 50 64 43.2 = -l
4086 oI AHETT 25 50 75 43.2 IO
4087 srfesfia ferame 27 50 77 46.9 Ifror
4088 AT g5 €} €} 0 €} ERRIE K
4089 AATH TET €} €} 0 €} ERRIE K
4090 TIT FHI T T T 0 T EGRIEO]
4091 et e gFH 26 50 76 41.3 I
4092 e e 37 50 87 43.4 I
4093 fafer Fo gETTeT 33 50 83 413 Iefiof
4094 AT AT 9T el el 0 el e
4095 w89 0 €} 0 €} Rk



=& feregor FrerT

RECILIREREIU]
T qATE, 2014 CEH Gl ThET: FE E
ERETIED Temeft % AT T 9T 1 T 97 2 T afx
50 50 100

4096 EEIRSGIE 34 50 84 36.0
4097 TS =TT 38 50 88 34.4
4098 THIT FHT qTedm 34 50 84 35.0
4099 AT FHIL T 39 50 89 35.9
4100 farcerar =T BT 38 50 88 38.7
4101 T TFUHRTT 39 50 89 35.7
4102 Ziter gaTT i 39 50 89 35.2
4103 ST TIT FHTT €} €} 0 €}
4104 AT FAT T 10 0 10 11.6
4105 FHIT T F75 21 33 54 26.5
4106 BRI EEE e 10 18 28 23.6
4107 HORH AFEST 32 50 82 46.9
4108 T FHTL AT ) ) 0 )
4109 e a9 El El 0 El
4110 T FHTL FHIS( AT 33 50 83 60.3
4111 EERECE 29 50 79 60.3
4112 AT FHE T 10 0 10 0.0
4113 S[AEHT 36 50 86 31.2

4114 ot 2o 39 e 36 50 86 45.4



=& feregor FrerT

TISTHTYT farmT
T qATE, 2014 CEH Gl ThET: FE E
ERETIED Temeft % AT T 9T 1 T 97 2 T afx
50 50 100

4115 G TEY 35 50 85 31.9 ERik
4116 EIGTIE] 25 27 52 25.4 IO
4117 qFe o4 31 6 37 21.1 T -l
4118 ST FTEsET T T T 0 T EGRIEO]
4119 HHT TEATEA 36 50 86 39.8 3<frot
4120 HIgHE J9TE 38 50 88 32.8 3<frot
4121 AT 91 36 50 86 36.9 3<frot
4122 & v gfitar 38 50 88 44.6 3<frot
4123 EER 39 50 89 60.8 3<frot
4124 IUEEE 39 50 89 47.5 3<frot
4125 TH S a< T T T 0 T EGRIEO]
4126 = T T 0 T EGRIEO]
4127 TH HIgFE T 42 50 92 37.3 3<frot
4128 S fiftr 41 50 91 66.0 3<frot
4129 T = 39 50 89 39.2 3<frot
4130 EETS 39 50 89 33.4 3<frot
4131 EUECRa) 43 50 93 39.0 3<frot
4132 HoqT THT 39 50 89 32.9 3<frot
4133 TIX FTHT 25 0 25 15.2 T -l



=& feregor FrerT

TISTHTHT frmT
T qATE, 2014 CEH Gl ThET: FE E
ERETIED Temeft % AT T 9T 1 T 97 2 T afx
50 50 100

4134 Fe=T e €} €} 0 €}
4135 Ftoat freme T T 0 T
4136 TSAT AHETE 40 50 90 36.2
4137 farsrer qeeg wpaeft 39 50 89 37.6
4138 Sinl 32 50 82 35.6
4139 & o T 18 0 18 0.0
4140 T HIZFAT HEAHT 36 38 74 27.6
4141 H[STTT FHTE ST 36 50 86 35.6
4142 EIERRIGI El El 0 El
4143 TE[AT= O 39 50 89 45.0
4144 T FHATL 39 50 89 33.4
4145 THATT 77 31 0 31 0.0
4146 foreuT €} €} 0 €}
4147 st o foamr 36 50 86 32.8
4148 IEEET T 1K 39 50 89 42.0
4149 e g &) T 0 &
4150 e W FeAT €} €} 0 €}
4151 afases TTEr 41 50 91 36.6

4152 AT STATASR A AT 39 50 89 40.3



=& feregor FrerT

RECILIREREIU]
T qATE, 2014 e ) ERIH
ERETIED Temeft % AT T 9T 1 T 97 2 T afx
50 50 100

4153 sheraT aTofRITET 38 50 88 44.9 I
4154 fRrer 51 38T a £l 0 q EERLEES
4155 Zamefi gfe T T 0 T EGRIEO]
4156 AT FHAAT 12 0 12 6.7 EnIL
4157 T et w=a 26 50 76 34.7 IO
4158 qHIE FAL €} €} 0 €} ERRIE K
4159 fovg = 26 50 76 36.1 I
4160 R SRENIEEE R €} €} 0 €} ERRIE K
4161 T W €} €} 0 €} ERRIE K
4162 FHTRT ST T T 0 T EGRIED]
4163 AT FHTE AT a a 0 a EEEISE]
4164 [EEIGAEEN el el 0 el e
4165 IRERLIEEIC] 46 50 96 47.6 I
4166 TR FHTE q q 0 a EERLSE]
4167 Tfer FeehgT 46 50 96 35.6 I
4168 qHe T amH 34 9 43 21.8 = -l
4169 AT =vg =T 13 0 13 0.0 EnIb
4170 LT T T T 0 E} e
4171 EIESIRECIRED €} €} 0 €} ERRIE K



=& feregor FrerT

RECILIREREIU]
T qATE, 2014 e ) ERIH
ERETIED Temeft % AT T 9T 1 T 97 2 T afx
50 50 100

4172 RERIPEE ) T T 0 T EGRIEO]
4173 TT I 8T TS T T 0 T EGRIEO]
4174 Frgrd = va= & & 0 & EGRIEO]
4175 Torstia fig 43 50 93 48.0 I
4176 AT 9T 40 50 90 35.7 IO
4177 LEREEE] 42 50 92 50.7 Ifror
4178 FHT @ T €} €} 0 €} ERRIE K
4179 CRIECRIREATIER 43 50 93 47.0 I
4180 e THT €} €} 0 €} ERRIE K
4181 T FHTL ATEAT 35 50 85 374 IO
4182 T9TET FHTE FAT 39 50 89 41.9 I
4183 ot oor 318 26 50 76 43.6 I
4184 EREEALE el el 0 el e
4185 AT FAE 40 39 79 27.8 SR
4186 RELICIEGERS T T 0 T EGRIEO]
4199 RERETIRIE] el el 0 el e
4200 TTEe FHTT AT q q 0 q EERLEES
4201 A FHTT el el 0 el e
4202 fieg F9 0 0 0 0.0 Sreror

10



IEQRREURIEE] Ta
TTATYT farsrT
T qATE, 2014 CEH Gl ThET: FE E
ERETIED Temeft % AT T 9T 1 ¥ 97 2 T afx afurm
50 50 100

4203 o F 19 5 24 21.0 et
4204 AT FHTE 17 0 17 0.0 EnIb
4205 T FATT 48 50 98 314 IO
4206 qfa A 43 0 43 0.0 = -l
4207 TATOT FHTL s 44 19 63 23.8 = -l
4208 TS FHTT AT 38 0 38 13.2 = -l
4209 IHT FHR 34T 44 4 48 20.8 = -l
4210 BRI T T 0 T EGRIED]
4211 FAL A 45 50 95 34.8 IO
4212 wIF HEA 44 50 94 33.6 IO
4213 EIECRE L 49 50 99 34.2 IO
4214 JATAT ARET 10 0 10 18.2 EnIb
4215 AT geEr 9 0 9 16.6 EnIb
4216 AT THT 4T 39 0 39 18.0 = -l
4217 TEIT FHT 79 46 33 79 26.5 IO
4218 LT FHTT 46 50 96 35.2 IO
4219 Fafava &g 45 50 95 33.2 IO
4220 = A 36 0 36 4.9 = -l
4221 TATOT FHTL qT0T 30 50 80 36.6 IO

11



RECILIREREIU]
T qATE, 2014 CEH Gl ThET: FE E
ERETIED Temeft % AT T 9T 1 ¥ 97 2 T afx afurm
50 50 100

4222 AT FATT 19T 30 50 80 32.0 I
4223 AARS 9T 30 50 80 36.6 I
4224 Hiora T 9T 25 2 27 20.4 = -l
4225 QT XA 35 47 82 29.3 IO
4226 et ot =g 25 0 25 18.5 T -l
4227 oot AT [ T T 0 T EGRIED]
4228 TAITH AETS T T 0 T EGRIED]
4229 F e Ot TRT 5 0 5 0.0 EnIb
4230 TRTYT HTATH 5 0 5 0.0 EnIb

4231 FIT AT 0 0 0 0.0 ERaiu



